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However they are not to stack the grain — W KD 9aN

OVERVIEW

The mawn states that it is permitted to reap the grain of a "2y Pn>wn n°a before the
7w N27pP0; however it is not permitted to stack the grain (in piles, etc.). N12OIN
explains the difference between 77°Xp and 77,

*

— 912991 NN PHN DN NTIDI NI NYINAY
For there is no loss if he will wait until after the offering of the 92y for the
TRTH -
- 111‘1’8‘,7 1NN N0 DIVN NPHYTT
For they permitted the reaping of the grain before the 771V only on account of
the monetary loss -
— Y109 11D 98P RY INY M9 INWUNI I8POD 129Ny
Since the grain of a "21 n%wn n»2 are quicker to ripen than other produce (from
other fields), and if they will not be reaped in time (before the W) they will
spoil. However nothing will be spoiled if the 7w 7a is postponed till after the wn napn. We
allow only the reaping process; all other processes must await the 11, for we are concerned that
if he is involved in the grain he may come to eat it (before 1v71 n2PN).

MooIN anticipates a question:
— 9599 %9 NP NN 229 99T XM

And why is it that >''1 previously in the X713 permitted the people to offer flour
and *9p [parched grain] (which were processed before the 2mW); those are certainly
processes which take place after the 77°X%p and 7w>7a. It should have been forbidden since there is
no loss. What is the difference between this 71w»n where even w7 is prohibited, and that 71wn
where even "1 map are permitted to be made before the w?!

moon replies:
— 39501 205934 *Y DIUN MY V)

! mpon, in the previous X 1"7, cited *"w (and N©OIN seemingly agreed with him) that there is a 105 which
teaches that 77°%p is 1M in a Prowi n»a. Nevertheless if not for the reason of X7°05 the o°»o1 would have prohibited
even 18R on account of the wwn of 193X R2> Xnw (as they were M3 concerning 7w>73). See also 7772 "X MOOIN
11.

2 The o237 "9 are the YX7w° "2 who came from all over to 22w to visit the p"»°a (and bring the various M117p)
three times a year; on mMyaw ,nos and M2o. [Here we are discussing the 9377w of nos.]

? See 5" Mmoo who states that it is necessary to put out the *2p rnp in order N11°52 %1 NX YL (which our
MooIN may [also] be referring to).
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One can say; the 0°no1 were lenient on account of the 2937 "W, The b W
should find food aplenty in 2°5w17°. However a private person on his own farm is only permitted
77°¥P but not WA

mooIn strengthens this idea that there is a difference if it is X7°09 0172 or not:
— NNPA TOIN NN 2N

And »''9 prohibits grinding the grain into flour before the 72w (as the X3 mentions

here that it was done 2’11 %72 RYW),
— (0 91 D09N P2 PRI NONDINA NINPT NNIY DIPN 7992 19PY N8P 1Y

But he permits the reaping before the "1 ¥ as the X723 states later in 2p» P92
amw where it is taught in a Xn>721 in the name of n"1 that the 17 *wiX would

reap (before the W) in accordance with the will of the 23227 -
— *MN3na DVIPN YIS 199 XD DIUN 13951

and the reason for the distinction between 77X and r7p is on account of the loss
that one would incur if he does not reap the grain in time. And so too does '@

explain in nIman. It is evident that the difference between X7°05 23pn and X7°0D DPnR2 X9V is
valid also according to n"9, and not only according to >".

MooIN asks:
— NTY09 0IVN NN Y29 YW NN Nt s‘l’ﬂﬁ N/ )2 ONX YINN ON)

And if you will say; if this is so that the reason for 1w n°2 %P is on account
of X7°09, then what is the challenge that the X773 poses; indeed >"7 is concerned
that perhaps he will come to eat it, but perhaps here 3''9 permits to reap the grain

because of the loss that would be if he did not reap it in time -

—1959%) %N 22 YaN
However concerning y»n where there is no loss if he will not be 712 we do make
a decree that one should not be p712 because he may find y»n and eat it.

Mo0IN answers:
INTO DIVN 1193 $PNNY U N MM DIVN MY Y

And one can say that in order to fulfill the mx» of v 99wsa the 72°72 should be

permitted just as we permit the 77°Xp because of a loss. The loss of money should not
be greater than the opportunity to observe a mn. If we suspend a 7228 wwn on account of

4919 17"7 R,RY.

> The X3 argues that there is a contradiction in the opinion of *"3; by y»n (he does not permit 7*72 during 109
because) he is concerned 170K? X2> Xaw, however by the 7w (he permits the 77°%p and) he is not concerned X2 Xnw
122K%. mooIn challenges this contradiction.

% See ‘Thinking it over # 2.
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monetary loss, we should (equally) suspend it on account of performing a mxn.

SUMMARY

77°Xp is permitted on account of X7°05. By 7w 72 where there is no X7°09 it is 710X
(132771) because of the concern 17987 X2° ¥nw. Nevertheless for 2°737 °91w the °2om
relaxed this 77°13 (according to °"1) and permitted even *7»1 nnp. Relaxing a 7701
because of X7°09 would indicate that a 77°1) should also be relaxed in order to
perform a Mmxn (such as ynn My2).

THINKING IT OVER

1. The X723 shortly presents a contradiction between the 7127 by ynn (where they
maintain that we are P712 and are not concerned 179X? X2° Xaw) and the (n"1) 1329
by the MW (where they maintain that we are concerned 179X% X2° Xaw [by the map
"1 which is 270m 1% X5w]). Seemingly what is the contradiction; by y»n they
are not N3 since it is a M¥n, however by W (referring to the *>p1 map where there
is no X7°09, and) where there is no my» the 1327 are 2!’

2. According to 9010 the purpose of P72 is 12987 X2 ¥2w.® How can mooin claim
that 51°72 should be allowed on account of 7¥°2 Mx»; since the 71PN of P°72 is RHW

19087 X2, and if he is p712 and finds yan there is even a greater wwn that he will eat
it?!”

" See "1 [71xa] R"wAnm Pwann.
8 See M 17"7 8,2 Moo,
® See HRIMW 127
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